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KENDRIYA VIDYALAYA JHAJHA
WINTER BREAK HOLIDAY HOMEWORK

CLASS-9™, SUBIJECT- MATHS

1. If O be the centre of the circle, find the value of @x€p in each of the following figures.

(vi)

2. AD is a diameter of a circle and AB is a chord. If AB = 30 cm and its perpendicular distance from
the centre of the circle is 8 cm, then what is the length of the diameter AD?

3. Acircle of 30 cm diameter has a 24 cm chord What is the distance of the chord from the centre?
4. A chord AB of a circle with centre O is 10 cm. If the chord is 12 cm away f om centre, then what is
the radius of the circle?

5. If the diameter AD of a circle is 34 cm and the length of a chord AB is 30 cm. What is the distance
of AB from the centre?

6. Whatis the length of a chard which is at a distance of 4 cm from the centre of a circle of radius 5
cm?

7. If the radius of a circle is 13 cm and the length of its chord is 10 cm then what is the distance of
chord from the centre?

8. If the distance of 10 cm long chord from the centre of the circle is 12 cm then what is the
diameter of the circle?

9. Inthe figure. AB and CD are two chords of a circle with centre O, such that C, O, D are collinear

1
and AB = ECD' If AB = 3 cm, then what is the radius of the circle?

e




10. In the figure, O is the centre of the circle. If ZADC = 140°, then what is the value of x?

(i) 45°

(ii) 55°
(iii) 60°
(iv) 45°

11. find the surface area and volume of a sphere of radius 7cm.

12. Find the surface area and volume of a hemisphere of diameter 16 cm.
13. Find the total surface area of a cone of radius 6cm and height 10cm.
14. Find the total surface area of a cylinder of radius 8cm and height 12cm.
15. Find the volume of a cylinder of radius 4cm and height 14cm.

REVISE FOR PT-3 €X{AMS.



